980573

NSP 270

e

25.03.15 7 25.10.16




C 3,5 x 35 mm 61“
16 x 12 % 18 x
111103 121 375
M6 x 11 mm T6 K" M6 x 10 T3
G| 6x 8 16x
121181 ] 117 001 12 616
KZO 35x 15mm G1 M4 x 9 mm Ggl
870mm §El
3x | | g [ 12x| |@dF | 6x | | P | Bx
12 L02 121370 111174 111 015
G A L7 VB23 -
N —
| 2e | T | 12x] | K] 8 =
111102 11610 111252 0w ;
a ® 3@ M o =
f —] = 873x500x18 S 30 mm ii
S o~ =
1761x560%15 873x560x15 | =S/ —
() | LOmm E=—
1761x32x15 873x32x15 —
Kj/ 17 | e o \g ;
1761x32x15 873x32x15 540x505x15 S0mm =
\,\g T
T0 mm ;
1761x560x15 873x560x15 £29x540x18 4( =5
80 mm ——
X W0nn E=—
@ 5mm  —
3%/ (5)

2064 x560x15

206Lx560x%x15 2001x560x15 206Lx560x%x15
[o/ ©
7 % 7 x
D4 b @
1518x439x15 1518x439%15
O (o]
2021x439x15  2021xL39x15

T
2015x882x2,5

Q.
L Ix
[39%337x15

439x16Lx15

Lx @9

408x337x2,5

)
Ul
~NO
" X
<

L39/422/439x200x12
1

439/L272/439%92x12

980573

25.03.15 7 25.10.16

10 16

2/13




3/13

25.03.15 7 25.10.16 |10 16

980573

Q14

35x35mm




Y20

Y20 _

112 198

980573

25.03.15 7 25.10.16

10 16

L/13




L7

111610

S

@M

117 001

35x15 G,I
@mﬁ»

121370

112 268

111229

111610

@

N

117 001

3,5x 15 mm G1

111229

980573 | 25.03.15 / 251046 110 16 1 5/13




111610

@

N
&

K1
117 001
35x 15 mm G1
121370

111103

D
112 268

980573

25.03.15 7 25.10.16

1016 | 6/13




25.03.15 /7 25.10.16 |1016 | 7/13

980573




980573

25.03.15 7 25.10.16

10 16

8/13




M6 x 11 mm T6 3.5 x 15 mm G1 KZO
870mm
121181 121370 111174 112 402
\
\

980573

25.03.15 7 25.10.16

10 16

9/13




-

121370

121181

980573

25.03.15 7 25.10.16




2]

111015

980573

25.03.15 7 25.10.16

1016 |11/13




G56
oL

35x 15 mm G1 L0 x 12 mm G 6
21370 |122625
@\ @\
~ ~

D=

i

\,

122 609

980573

25.03.15 7 25.10.16

10 16

12/13




WOI'BUNUO-X3WIMDH  32IAJ9S IR £€ 8658 L0950 (6%+)XB4 L1/9] 8658 10450 (67+)131
Auewsan /ajynyualiewsbiosy L6y /1071 4284450d /HIWY S1apuey jiodx] jJodw| /4Iepaquyom X IWIM

uswwoudaqn bunyyey 13113U13y U3PEYISYIRS JBPO /pUn

-U3u0SJad 13q pdim 3bejuol JaydsiuuBWYIRY JUYIIU J3PO /PUN J3BIGRWSIIYISIOA JUdIU 139
| JOA SUN Jim U3 41eYaq'puls 4apInyasab J11aydsilo4 uaydsiuyda} wap 31p uabundapuy

(X¥) 1D 0LE 12D

25.03.15 7 25.10.16 |10 16 [13/13

980573

A
N\

23

919PON/19POW/119PO

()=




23203 00y |-

Kunde MAX MUSTERMANN
. r

ustomer
Client

Kommission / your order reference / votre referen

3377 MINDE

S

w
=)
~
©

Dekor / Deco.

Decor / Modell / ModeéW/ Modele
SAMPLE
F99842  SCHNEBEFYRRENSCHAAMEZE0 Cll H 2160H

Paket WonX8 | ~i5

HSP-SWT_ BOD SOAFEXT/EEX SOCKE
50-BOD TE&XT RASTEX/FZWBOD D18MK

3 FRESH ™ 7 =
X KLSTA 104

IMEX Wohnbedarf
ort Export Handelsges mbH & Co. KG

T Ks-6a N
SOCKEL32 KLEB
SAMPLE 23.08.19

Modellname Produktionsdatum
Model Date of manufacture

\




